WORK SHEET FOR CALCULATION OF WELLHEAD PRESSURE (Fc or Pw)

FROM KNOWN BOTTOM HOLE PRESSURE (Pf or Ps)

FORM C-122F

COMPANY URC PETROLEUN LEASE :PARKWAY 2BMELL NOD. : 2 DATE 8/27/97
UNTT SECTION : 28 TWNSHP : 19 RANGE : 29
L 11100 Hi 11100 L/H s i 6/6MIX 1 0.8100
oz : 1.05 N2  0.24 H2§ :
6H : 6771.0 PCR : 674 TCR @ 358
LINE 1 2 3 L] 3 ] 7 8
1] TW{W.H. R} ; 334 ) 334 334 | 234 334 334 334 334
2. Ts(B.H. R) v 45,0 1 b45.0 1 645,01 45,0 ) 645.0 [ 645,07 645.0 | 645.0
3 T={TwtTs/2) . 9B9.5 0 389.5 % 589.5 ) 589.5 ) 589.5 ! 589.5: 589.5 ! 589.5
4 1 (EST.) po 0,961 1 0.869 ERR | ERR | ERR | ERR | ERR ,  ERR
S 17 : 567 512 ERR | ERR 1 ERR .| ERR ; ERR |  ERR
6. 6H/T1 ¢ 11,950 0 13218 ERR | ERR | ERR | ERR | ERR | ERR
7. eS{TABLE X1V) v L3e3 T 1,642 ERR | ERR | ERR | ERR | ERR |  ERR
8 | Pt or Ps ; 4200.88 | 4200.88 | 0 0! 0 0! 0 0
g . P12 or Ps2 D 176474 ¢ 176474 0.0, 0.0 1 0.0 4 0.0} 0.0 | 0.0
10 | Pc2=Pf/eS or Pw2=Ps2/eS) 11273.0 | 10750.3 |  ERR | ERR | ERR [ ERR | ERR |  ERR
i Pc or Pw Lo 338 3279 ERR 1 ERR | ERR | ERR , ERR !  ERR
12 | P={PwtPs/2]or(Pc+Pts2) | 3779 | 3740 ERR 1 ERR ' ERR |, ERR | ERR |  ERR
13 Pr=(P/Pcr) : .60 598 ERR | ERR { ERR | ERR [ ERR |  ERR
14 Tri{1/Ter} ) 1,65 1,65 1 1.5 ] 1.65 | 1.6 0 1.6 0 1.65 1.65
15 1 1 (TABLE XI} p 0.B89 1 0,867 ERR | ERR [ ERR | ERR | ERR |  ERR
PCpMl 1: 32788 P 2: ERR o3 ERR Fd 4 : ERR



